Asynchronous Serial Interfaces

Exercise 1: Is the “Transmit Data” (TxD) signal an input or an out-
put? How about “Receive Data” (RxD)? Is a computer a ‘modem’
(DCE) or a ‘terminal’ (DTE)?
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Exercise 2: Draw the waveform used to send the ASCIl character

'd’ (hex 64) at 4800 bps S‘T‘t}p eight data bits and even parity. Pashy ¢
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Exercise 3: Willthe parity bit allow the receiver to detect all single-
bit errors? All double-bit errors?
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Exercise 4. What happens if the receiver’s clock is running faster
than the transmitter clock?
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Exercise 5: What would happen if the receiver was expecting 8- . %
bit characters and the transmitter was sending 7-bit characters? N ?\ac

What about the reverse case? \0\3( X \,"A W j‘{—-q,.niﬁ’\
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